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guiPlot( PlotType =" ", DataSet = "transit", Columns =" :
guiModify( "LinePlot", Name = "GS1$1$1",
LineColor = "Green",LineWeight = "3",
SymbolStyle = "Circle, Solid",
SymbolColor = "Green",SymbolHeight = "0.15",
SymbolLineWeight = "3")
guiModify( "LinePlot", Name = "GS1$1$2",
LineColor = "Lt Red",LineWeight = "3",
SymbolStyle = "Circle, Solid",
SymbolColor = "Lt Red",SymbolHeight = "0.15",
SymbolLineWeight = "3")
guiModify( "Axis2DLabelY", Name = "GS1$1$Axis2dY 1$Axis2DLabel Y,
Font = "Times New Roman",
FontSize = "22",Bold =T)
guiModify( "Axis2DLabelX", Name = "GS1$1$Axis2dX1$Axis2DLabel X",
Font = "Times New Roman",
FontSize = "22",Bold =T)
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likely = function(tmpl,tmp2,tmp3){
set.xyz <- Set()
set.para <- Set(1:2)
| <- Element(set = set.xyz)
J <- Element(set = set.para)
x <- Parameter(list(1:1,tmp1),index=i)
y <- Parameter(list(1:1,tmp2),index=i)
z <- Parameter(list(1:1,tmp3),index=i)
lam <- Variable(index = j)
obj = Objective(type = "maximize")
lam[1] >=0
lam[2] >=0

obj ~ log(lam[1]™*x[1] * ((lam[1]/(lam[1]+lam[2])) *

exp(-(lam[1]+lam[2])*z[1]) +
(lam[2]/(lam[1]+lam[2]))
* exp(-(lam[1]+lam[2])*y[1])))

tmp = get(“cvs")

tmpl = tmpl[,2]

tmp2 = tmpl,3]

tmp3 = tmp[,4]

lambda = mu = vector(mode="double",length(tmp1l))

for(i in seq(along=tmp1)){
nuopt.options(method="bfgs",maxitn=200,scaling="on")
rsit.problem = System(model = likely,tmp1[i],tmp2[i],tmp3[i])
rslt.solution = solve(rslt.problem)
lambda[i] = rslt.solution$variable$lam$current[1]
mu[i] = rslt.solution$variable$lam$current[2]
rm(rslt.problem)
rm(rslt.solution)

}

rslt = data.frame(lambda,mu)
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